


586 — 124 = 462

686 — 224 = 462

786 — 324 = 462

886 — 424 = 462

986-| |- 462




TS o] 83 5 AR A @, Ol YT 52 22 15
ol A7
1202(1203]1204(1205(1206

53 | 5 6 7 8 9

54 | 6 7 8 9 0

55| 7 | 8 |@| o0 |1

56 | 8 9 10 |O| 2
D @=0, O=1 @ @=0, ©=9 ® =9, O=0
® @=9, ©O=1 B @®=9, ©=6

A

o
.



4. A& Zo} 12345679 x 72 2] S FoHA L.

YER
c



157H

of Alzjet

4ﬁﬂﬂﬂ%

M

ﬂlﬂé
N7t =

-

873

\'_‘.‘
=] =3

3
gl

2

Fu. Ael2
A AR 2AL,



S8 Lolgrayth GuA

o4

£ 7oA 2.

B9 B




RPor whE =9 v tAA =g BP9 = F

MgY74?

7.

oo clos) sk
A A AA 9A

S s sts\

= ss\

(==
ee
ee
ee
ee

fo]
(ele

@D 1670 ® 1778 ® 1870 @ 1970 ® 2070



= A4

A 9x9 =281

=4 99 x 9 = 891

A | 999 x 9 = 8991

A | 9999 x 9 = 89991

@ FalAE = 97F 1714 Eoldyrt.

© ATt el okabe] =2b= 8, o] A b= 1
Pyt

© JolAE 49 99] T ARt gl 97
AF YT

(V]
m

it




9.

=9 o] Wil 4 tHAAe] e B o AU

o | oo ©




10. 9] ie] e Ao $7 9he AL ol AAUE

@ 158 AlFste] /] w9l =1, 2, 34 A-Yh
HE AlAFste] Nkl =41 = 2, 3, 44 AR Y

® O=7+4=11

@ ©=0+1

® ©=10+4=14



